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Economic Development
anfdie faemra
M.A. Economic (MAEC-12/16/17)

2nd Year Examination, 2019 (June)
Time : 3 Hours] Max. Marks : 80

Note : This paper is of Eighty (80) marks divided into three
(03) sections A, B and C. Attempt the questions
contained in these sections according to the detailed
instructions given therein.

A : TE YA ST (80) FHl w1 B S oA (03)
wuel %, @ 9 T H fawfya B ySe wve o
feu T fomga feen & AR & U9 hl ' B
2

SECTION-A/ ©@US-%h )
(Long Answer Type Questions)/( ¥l 3w ated W9 )

Note : Section 'A' contains four (04) long answer type
questions of Nineteen (19) marks each. Learners are
required to answer any two (02) questions only.

(2x19=38)
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de ;. wWis ‘w H AR (04) < ST o9 v f@ T
2, T® U & fou =19 (19) o fuif@ ?
el @l 399 @ Fod & YT ® SHW A B

1. Examine the role of economic and non economic factors in
economic development of a country.

T 20 & 7w farm | enfeler den swifefes weni &
AN I AR HIfSU

2. Examine Arthur Lewis's model of unlimited supply of labour
in context of economic development of underdeveloped
countries.

STeufashfad <o & omfder fomm & dxd H oneR oz@
% 99 & HiHd gid Aled w1 9hEu HiGY)

3. Examine Rosenstein Rodan's theory of ‘Big Push’ and
discuss its relevance for developing economies like India.
TS USH @ gl 9HE g & qﬁw HITSTT e
qRa w9 famEsiia 29 % fau el SugEa &
AT HiTaT|

4. Explain the rationale of economic planning in an
underdeveloped country and point out the difference
between physical and financial planning.

Tk ocqfawiad v A emfiw frEiem w1 sifac
qEUEET dul difde T O fEeE ¥ SR e
EdlsEy
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SECTION-B/( @Us-@)
(Short Answer Type Questions)/( g I A T9T)
Note : Section 'B' contains eight (08) short answer type

questions of eight (08) marks each. Learners are required

to answer any four (04) questions only. (4x8=32)

Me: @re ‘@ H A8 (08) oY I oA T A
™ ¥, TO% T & fau e (08) i frwifa
g1 foenfefal =l 9 ¥ wow WR (04) WA &
S T

1. Distinguish between Economic Growth and Economic

Development.

anfdss Wafg den enfds fawm & = fadg wifewl

2. Define investment in human capital.

aHa gsit ® faftEn &1 9 i)

3. Give the difference between balanced and unbalanced

growth doctrine.

T qe sTEgied ghg fagma ® TR T Sifeu)
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Explain clearly the theory of surplus value of Karl Marx.

FE HE & T Aed f9gT i TR S it

Mass poverty is one of the common feature of the under

developed countries. explain it.

9 T TeufadRfad <9 % AUl H ¥ TH WHA
YU §, AT HITSU

Write the meaning and features of sustainable development.

gaq fawm &1 o1 @ fowman fafe)

Discuss the role of agriculture in the context of economic

development.

s fasem & w=d ¥ FfH & gfgwr w1 =N
EAIEI

Explain the thesis of Myrdal.

e & fagm (Sfesm) & o= FHifSg)
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Note :

SECTION-C/( @US-T)

(Objective Type Questions)/(a'{ﬁﬁ'% T )

Section 'C' contains ten (10) objective type questions

of one (01) mark each. All the questions of this section

are compulsory.

(10x1=10)
e ‘M § 7w (10) qeATS T A W OT,

Y% T & faw ww (01) e fauifa @1 =W

wue & gt e st )

Choose the correct answer :

T IW B T RO ¢

1.

2.

Which is economic factor of Economic Development ?

(a) Natural Resources (b) Culture
(c) Political Dependency (d) Religion
el famm 2q onfds @ ®iA w872

(1) Hiepfash @MeA (&) HERid
(9) ToHifaes fasiar (%) v

Who gave low level equilibrium trap theory ?
(a) Leibenstein (b) Karl Marx
(¢) Nelson (d) R. Nurkse
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= wm agen T fagma feaw e
(31) wfifer=i (9) Hict A
(|) o= (3) &R T

3. The analysis of Arthur Lewis is
(@) Unlimited supply of labour
(b) Unlimited supply of capital
(¢) Unlimited supply of capital and labour
(d) None of the above.

MR Wi =1 favewor €

(37) g\ &1 o gfd

(9) st =1 i gfd

(@) ot iR 99 1 erdifaa gfd
(%) =g e

4. The capacity creating aspect of investment in growth theory
was emphasised by

(@) R.F. Harrod (b) E.D. Domar
(c) P.A. Samuelson (d) R.M. Solow

gfg o faw & e & gmed fmor st w fFam s
feam?

(37) IRTE. TWe (@) 28 W
(9) WU, HYTerEA (%) MTA. Tt
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5. According to whom, surplus value should be given to

labour ?
(a) Adam Smith (b) A.K. Sen
(¢) Gandhiji (d) Karl Marx

fro foure & oER sfiles Tou gfie & T I
=feu?

(37) Teq f@e (F) TH T

(|) e S (3) & A

Write True/False against the following :

o o e

fafafeg & 9me Ty fafa .

6. Critical minimum effort theory is given by Leibenstein.
(True/False)

SEvTs JAad FaE w1 fagr dfdierd 7 gt
TRl (F3/3199)

7. Knife-Edge problem arises in Harrod-Domar model.
(True/False)

FH-UR T S-SR Higd ¥ R (|ed/3TEH )

8. The unbalanced Growth strategy was propounded by R.

Rodan. (True/False)
S dgfg FEET SR USd §N R TR
(HFa/319A)
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9. According to Gunnar Myrdal, there exists a circular and
cumulative causation in under developed countries.

(True/False)

TR fidd & @R oy famfug <o o =g SR
Gt SR 9@ foRmE w2 (H/3TEA)

10. Economic development process is concerned with changes
in structure of economy. (True/False)
i o &1 fehan stefemawen & @@ o uftedq o
i g (/318
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